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Note: All the answers to be done on the answer sheet. 

I. Fill in the blanks :          (
1

2
x6 =3) 

a) Two circles are congruent if their __________ are equal. 

b) If ∆ABC ≅ ∆PQR then the side corresponding to side 𝐵𝐶     = _____ 

c) The cofficient of a in –ab2c is _________ 

d) If we subtract −2y from 5y we get __________ 

e) The value of 𝑥2 −7 if 𝑥 = 4 is _________ 

f) The degree of the expression 𝓍2y2z2−6𝓍yz is ________         

II. Add  the following expressions :          (1
1

2
) 

𝓍 −3y + 4z , −2𝓍 + y −8z , 5𝓍 −2y −3z                                          

III. Subtract  𝑥2 –y2  from 2𝑥2 −3y2 + 6𝓍y                                                                (1
1

2
) 

IV. Find the product :  

a) −6𝓍2yz  x  
2

3
 𝑥𝑦2𝑧2                                                                                            (1

1

2
) 

b)  −3a2 x (2abc2 −4a2bc−5ab2c)                                                                             (2) 

V. If  P = 2a−3b + 4c and  Q = a + 3b −4c then find the value of 2P−Q.                (2
1

2
) 

VI. In the given figure 𝑃𝐿     ⊥ 𝑂𝐵     and 𝑃𝑀      ⊥ 𝑂𝐴     such that 𝑃𝐿     = 𝑃𝑀     . Is ∆PLO≅ ∆PMO? 

Give reasons in support of your answer.                                                                 (2
1

2
) 
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VII  In an isosceles ∆ABC   𝐴𝐵     = 𝐴𝐶      and D is the midpoint of  𝐵𝐶    . Prove that ∆ADB ≅ ∆ADC. 

                                    (2
1

2
) 

 

                                                                                                                        

                                                      

                                  
VII. Two line segments  𝐴𝐵     and  𝐵𝐶      bisect each other at point O then prove that  

a) ∆AOC ≅ ∆ BOD 

b)  𝐴𝐶     ∥  𝐵𝐷                                                                                                                (3) 
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